METCLOS ~ Contrdle T~ 7 3/ e¥/o5

 Glpestion 4

‘,/‘/;L = QN (L %’”"/"f’f._f?f..f.ﬂf"m"“”/fl o
2

A s ﬁ; =

- ASSM /7?:1{ an. Solo fﬂm _ (%/ CWI57L4A7L)
B ,AIS,Q),LAVA,.,Q/A/ vt selution, ( W71'ZJ/ = - X a /C = cm)‘fmwg

o W@V‘f )= Coxs Jo’ =0sR_ Wk




,#@ UlsTron & . _

5’7/ 5‘1//7‘;0»15 AL /%’nrmn (/f(f’er @mu/f} Zmz/ ’5 a/{’yf‘J 7§'/7%r’ 53/%’#7% )

o (5ld) slion Rﬁﬁ)@ =/ g 750 7000k
Y= T2

o m.d_..é‘_,@j, =(1-5)  (Reootlin ﬁr solvent)

Clsld) 5tk T RTA. oy = 27750

(4, - 7/?76{ /% fzﬂ%sz%\)

ar,er =25 29

: % asav (L)

}fﬂ@ Se

//C%,e %W St fyFons e o ea&[éadm

7—,(//‘./ g &ctiy fres %,4_}”4;‘/4& L p

Thet i (7/97 gﬁﬁﬁ;g

[//j) = 25296 (/-£)

§a/w’€ +o j}S{' j - O./053 w S e

/Lj/ +3, = Aﬂxéf AG - 27%0= — ﬁ?;f/("

el b/ £
- ko S = e DY
R "fAZ 0/) : (7 )A) /j 4’ - “"“‘“‘Ka 8712 Jag. =
Q( 7”’5,45L = ,4(__(/ 4%”*??%9 = -’RT;)E/( Sofve 2
aza&?ﬁ‘aqj

4@4,7 //'fs — (/"jg;)

=7 =
A Aty :»c /a@,

4,,,@,%%)4/6&’{&,,,, e

= 2634,

5&///6‘ Fo M jﬁ NZ4 17

S, = L E3X10 i




— Qlestion 3

Als) —> Ale) Ayﬁ;m = 5000 - /077
( becavse——ASg— ——nﬂffs ron-— -‘*’;‘20)
~ Fosion o
AA4G6) +8(s) =4, B() Aa = —3f000 + 50 77
240 +B() >A.BE) [ (5200 ~07)
= - ‘7’5000 <250 77
/y/_l f/w =l FO0O__ e
Aﬁmrjﬁ oo
AﬁfL— RTA K- \\ A(? oo 2. 03/000 .
A S oo . (7000 = ~R (o) LK
V/’?% B A4
}(:: 2 9253*0/{'}'0’53 & )@, 563&3) (/‘001)1(0023’5)

e
(/4‘{" Fﬁ‘fd(q?ﬂ‘an ﬂﬁ (ww‘g/vjﬁfmér/ f;&;;f) =54 “)m

==X
/ 4, Wwaiﬁﬁgwhaéat o Nt ( /ffn?’)u__éﬂwn . (wg__
] Y o
AL Fook  -25W0 =- R(700) LT R
4-0

R =28562 = (poo)*(oces )5)
Yo=Y 2GS0k .

W) RThyy = A-BT
(Rlww) f (6.79)= A —r0a0R
}f? (200) o (%261)= A —700R .
T 500K §¢/:/« o 4'e7‘ A= —-8%¢/ B=-2% %3 o
%Lez{/f‘ Soo/ K/Saa)ia/g = - 556/ %,2,‘/?3/}90) )/r.z- . 323

3000 = - R (spo)f K~ y

4

= (23] = = lr=Xe)  (2323)XB o LAE -

O.00025




| (@u€5+rdn 3— Cmrh'nuw’)

/= ﬂtgg/ 2 T A -%‘ﬁf,/, s

/()Tj a"; = —.Aﬁ:;:Sf‘drrf #A j\
R(To) f ()= 000025 )= Soc0 +10 T
Te = 7_“2%74/




o Clestion 4 N

mmﬂoquw/um . -’:} -
/{7— QA— C(———Aj-%mm(ﬁ Q'
RrL X, ,+ Y - sabd( (/=5
Agct ifyq 5 -:‘:‘2?"

. :
R TX )(,47,5{: 7"4)(,;(4? = ~/3200 // :mg_.m

—hltrgedes:

RTJLXFQMXA;&n = ~Jd55200 (/— I/Q_Z;J

J,@m%_@wfmm & To= 527K

R (574 /g\{/*XEJ +6LXE =—)35£00(/‘ ?—;-LS/)

R(539) L Xe ta(ix = -assze (/-32)
MKME“W Xra’ u:)/)

WM%.WJ%%:— W/ﬁfau/ns \/)_{f_arv(_@,) .

?’?/?xﬁ//*}() +aX > == 795

160 KXt (LX) = U353

Cutrs %% A M X 22 Sttome b broth 7«4 forns

X@f)-—-c’) /673

= -spo0 Jodles

————




